3 Ubogogd

3.1 00O

obooooooomMOoODOOOOOOoOoDOOODOOOOOOoODObOOOObODOOO
gbobobuoooobbbuooboboboooobbobuoooobbogao

OoobooboOooboobooooooooooobooodOoobooo MOOOOO
rROOODODODOOOODOOOOO

dim R

)= [ do Y fivi(e). (

ct0 MOOODODODOO:0DOODOODOODOOOOOOODOODODODODODOOOO
O |x,) 0O0D0O0O0OO0O0000OO0ODODOOOOOOOO

|z) @ |i). (78)

00000000 «0000000000000000000000000000000
i), 000 00000000000000000000000000000000000
0000000000000000000000000000000000000000
000 2000000000000000000000000000000000000
000000000000000000000000000000

i), 000000000000000 V,00000000000000000000
00000000000 V,00000000 i) 0000MO00000000000
00000 |i), 00000000000000000 f(z)0000

f(@): Vo = Va. (79)

000V, 0000 |i)O f(x) 0000000079 O0000000O0O0O0OO0O0OOV,
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dim R
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dim R
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dim R
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dim R
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dim R
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dim R
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U0 fO0000DOO0OOODOOOOODODOODOODOOODOODOODOODOO
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ooooon
dim R
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O fO000000000O00O0OO0O0O0O fOODODODODODODOfO fRORE
So(d)ooooOoopoooooooooooo
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Z\w ) ®u [i)o lefh@mI) i, fh)

dim R

§j|m ) @ hli)oWi(, fh)

dim R

=Y |z, f) @u [i)ohi ¥ (=, fh). (95)
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dim R
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dim R
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dim R

= /fdaz Z @, f) @u [i)oW(x, U f) (97)
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gbobobuoooobbbugooboboogobobuoooobbooo

32 G/HOOOO
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Ob0db0gH OO 2 0000O0DOOOO
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0 = / dglg) ®x 1Y Ti(g) (102)
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\gh) @u |i)o ~ |g) @u hli)o (103)

000G~FMOOO0000 U,(g) 00000000 (96) O

dim R

Ui(g) = Y hi¥;(gh), VheH (104)

oooo
00OM=G/HOOOODOOOOO0O0O0000000000000000000000
0000000 ROODOODOOOGOOOD ROOODOOOO0O00 ROOOOOOO00O
pE, 0000000000000 V;0000V;0000000000A4,B=1,...,dmR
0000000 RO ROODODOOOOODOOOD ROOOOCODOOOOOOOO
VrkeVz;00000000000000000000004,j=1,...,dmROOODOO
dmR 0000000000 HOOOOO ROOOOOOOOOOOOOOOOOO
000000000000000 dmROODOOODOOOOOOO04,;0000000
O0000O00O0OROOOOOOOOO GOOO ROOOO

YR (g) = P9 Via (105)
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O000000000000000 (104 000000000000 O0Ob0OoOooo(o4) O
000000 Y(g) O (105) 0000000000000 OODODOO

dim R _ _
Ti(g) =Y > p(g )ik (106)

ROR A=l

\IIEDDDDDDDDDDDDDDDDD ROOODODO ROOODOOOOOOOOO
000000 ROOODUDDOOOOUOOD ROODDOOODODODOO(106) O (104)DD0DOO
gbbobuoooboboboooobo

3.3 UOD0ooooooood
GO FMOOOoOooooomMoOoooooooogoogg gUoooooboood
dooogoogdg
iso(g')|g) = |9'9)- (107)
DDDD(IOQ)DDDDDDDDDDDDDDDDDDDDDDDDDDD
iso(g)| V) = / dg " 19'6) ©n [i)op (g )ia ¥R
i,R,A

_ / dg 3" 19) @1 [1hop(g g )ia ¥R
i,R,A

— [dg 3 19) @ o™ (g Dian () an (108)
i,R,A,B

gbboooobobbuooobbbooobbogo \IIEDDDDDDDDDDDDDDD
gooboooon - - - -
W= Wy = () ap Vs (109)
00000000000 XOO0OooOooUDoO LyOoooOoooooobobooo
gbobboooobbbuoooobbodo

Lx =iso(1+X)—-1 (110)

0000(108) 00000

Lx¥i(g) = Ti((1+ X)'g) — ¥i(g) = Ti(—Xg). (111)
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goddoood guooououooobobbbbbobbbobbbiboodooooogda
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(14 X)g=99 " (1+X)g=g(1+v"K,, +w"H,) (112)

ooob om0 XOOobhoooobooboobobobw*H, DOODOODODOOODO
gooooogd

3.4 0O0OOO

FMOOO fOO0D0ODOODOOOOOOOODOOO0 zeMObOoooooQg ¢
Om=1,...,dmMOOOO0OO0O0O0O0ODO0O¢C 00 ct0000DO0O0OOODOOODOODO
gbobobooooon

o(&) = m(g(1 + " Kn)) (113)

oooooobobobooooooooooDobO0bU0obUobU0H, 0 HocGOOoogoo
K,O0O0oOoboooo K=g-—HUOOOUOODUODOOH, OODODOOOO eFODOOOOO
obooboooooog¢gooboboonooobuoobon

ds® = £mem (114)

ooooooooooobD K, OooooOoooo0ooboK, 00oooooo mMmoQd
obooboooboobood
Ooboobooboobobooog ¢gngbooo ¢em—-em0oobobobooonog

g—>g(l—€e"Ky) (115)
oboboboooooboooboobg P.O0O0Ob0On
Felg) = lg(1 — €"Kp)) (116)
PO (10200000000

RIW) = [ dglgl1— K)o [)oiilo)
_ / dglg) @ [1YoWi(g(1 + " K,0) (117)
OO0 PO0OOO0OOOOOOOOO0OOO0OOOOOOOOO0OOO0OOO0OO
€D, W) = P|W) — |0)
- / dglg) s |i)o[¥i(g(1 + €™ Kon)) — Wi(g)] (118)
DDDDDm|\P>DDDDDD D, 0000000000000 0O000O00O0000000
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||le>>

[[14+K>>
4
VZ llg>>

[lg(1+K)>>

0 4:
Oo0o0oogoooogogno
" Ui(gKm) = Wi(g(1 + " Kpn)) — Wi(g) (120)

O000000000000000 (l06) 000000000 OODOOODOOOOOOO
oboboboobooboobooboobooboobobobobbobbo ROODO
gbbobogooboooooooo

Ui(g) = p™(g™1)ia ¥} (121)
00D00(120)000000000000

VE(G(1+ e K,p) — UE(g) = [pR((1 = ™ Kon)gia — o7 (g1 )ia] VS

= p(—€"Kpn)iap™ (97" ) 4V
= p (=" Kn)ia¥(9) (122)
000D0(121)0 ROOO 00000 ROOOODODOD vi(g)0OD0O0OO
Ui(g) = p"(g7")ap V] (123)

gbooboogooboood

DU (g) = WE(gK,,) = —pF % (g). (124)

(2

00000 (l04) D0O000000ooooooooood

Dy ¥(gh) = Ui(ghKy) = Wi(g(hKpnh™")h) = hopnhi Wi(9Kn) = b b Da¥5(g). (125)

mn'“ij mn'“ij
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goboogobuod mnodbbodbbooobogbboobbooboboboonooba
gbobobooogon

DW) = [ dglg) 1 (1m)a ® i) D i(o) (126)
00000000 o000 oooooooooon
19h) @1 (Imo ® [i)o) ~ lg) ®r (hlm)o @ hli)o), Vh € H. (127)
gododooooboobooboooa (124)DDDDDDDDDDDDDDD
D, D ¥E(g) = D, W (gk,) = WE(gK,, K,,) (128)

gooo
b0 0O nUdO0dobobooogbobuoogobboooobon

AV;(g) = Vi(gKmKm) = —[Co(R) — Co(R)]Wi(g)- (129)

O000C(R)O KK, OOOODODOOO HOODOO 0O GOOOO ¢4 000
000000 GOO0O0O0O0OC(R 000000 HOOOODODODOOooOooooooo
ooOoboo0bO FOoOobOoooooo

Co(R) = —g*PTuTs, Co(R) = —g"H;H,. (130)

gbobbuooogbbbuooobbbuoooobbbuooobbbouooooboogd
ooobobooooobboboobooobobuobuob ROODDODODODODODODO
00 ROODOOOOOO0OO0O0O000O000000

(128) COOODOO0OO0O0O0O0O0O0OOOOODOOOOOOO

[Dm>Dn]\Ilf(9) = \Ijﬁ(g[anKn]) = pR(_[Km7Kn])ijqjﬁ(g) (131)
00000000000 oooooouoooooooooo

Ry = [Dm, D) = =Ky, K. (132)

3.5 UO0oobooogd

goddddooooobbbbboooooooooboobooobbbbooooooog
goad

O000000000000000000000000000
d¥;(g) = V;(dg). (134)
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000O0¥,(dg) 000000 (106) 00000000000000000000000
pR(¢)0000000000000000000000000000 w¥(g) = ¥(—gw)
0000000000000000000000000000000000

"W, (gK,,) = V;(dg) + ¥;(—gw) (135)

oo ououououououououo
p=e+w, u:=g dg. (136)

00 e=e"K, 000000000 O0OoooobobOOO
du + p* = 0. (137)
000 p=e+wOD0O0O0OD0OAF OO0 KOODODODOOOOOOODOODOOD
de +we+ew=0, dw+w’+e?=0. (138)

0000000000 o00000000000000000000000000 (132)
gboogo

3.6 S"=S50(n+1)/S0(n)
D000D0000000D0000
M=8%" G=80(d+1), H=SO0(d) (139)

gobobodo

3.7 SU(2)
SU(2)0o00000000000O0O0ODOO000OODOOOO0DD0UD0OOObODODOODOO

[Tme]:_eabcTc' (140)
gooooooooooooooooooooooonooooooboooonon

Tél/Q) = %O-m (Tél))bc = €abe (141)
goooooooooooooono

Ty =T, +iTy (142)
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goobobbooooobobooooobbobobobooooobobbooooobobooboa
gbobobooogobobod

(m|Ts|m) =im,
(m + 1T m) =in/(l —m)(l +m + 1),
(m —1|T_|m) =i/(l +m)(l —m + 1). (143)

SON)OOOoOoOoouooopooooooUdooooopooooooooo

1
TMN = = YMN (144)

2
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD|M>DDDDD
1) = Tyal2) (145)

00000008 =80(4)/50(3)0000 S$00000000000000 H = S0(3)
0000 Ty, Ths and T3 0000000000000000000 {7y, T1, Tia} O
(I\,T,, 73} 0000000000000000

Tio =T§ + T, (146)

00000000000000000 T,,000000000000000000000
0000 SU(2), 0 SU2)x,00000000000000000 Ty, O

1 1 1
Ty = 57 = 57" = 5(Pey'® — Pry™?). (147)
2 2 2
000000000000000

Ty = TF — TF. (148)

3.8 SP000

So4)ooo (¢,9,) 0000000 SU(2)UOO0OOOO0OOODOOOOODOOAHOO
gbbbuoogobbboodobbboooobbbuoobbboooan

1U) = 19, 9|9 Vi(gu, 9r)- (149)

gbooboooobboooobobod

spin(h)|V) = |g1, ¢-)h|1) Vi (g1, gr).- (150)

local(h)|¥) = |gih, g:P)|0) Wi (gu, gr)- (151)
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9, 9 )| Wil 91, 90) = |gih, g-0) 1) Wil g1, 9r)- (152)

goboboooobobboooboboooobbbuooobbobooooboo

|91, 9, )hIE) ~ gih, gr ) [i) (153)

b0 ~00000gobbbuoooobbboooobboood
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gooo
SS0000000000000000000 |[) 0000000000000 0o00o

gbboboogooboooobbooogn

) = g1, 900" (919, ) aB P a (156)

0000000 00000 j0000000000000000000000000 (4, 7)
00000000o0oooo0ooooooooooooooO |g,g) 00000

g9, ")) = {191, 9r)} (157)

O0000000000000000000000 (1) 00000000 0ooooooo
obobobobobooboooboobuooboobuoobobbobboobbooboobg
oboboboobooboobod

@) = |9))0"(9) aBY an (158)

oooof

O00000000000000000 |lg))00000000000000000000O
obobbobooboobooboobooboobobboboobobooboobd
ooof
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gbobobooggbbboooobbboooobbobuoooobobbooooobood
gbbbuoogobbbuooobobbboooooboo
gbobobuoooobbboooobboboooobobobooon

Lo, ollg)cili) =1Tng, e)li) = [|Tmg)) 1),
Lozllg)) eli) =lgi, Tu)li) ~ —llgTn)) Lili) + 119)) LrTomi).-
rDl|9)) L1li) = = [9Tm, e)1i) + 19, Ton) i) ~ =2[|lgTn)) rli) + 1|g)) LiTmli).  (160)
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[l 000 L0l 00000000000 §,000000000000000000
000000000000000000000

K,, (7., —1T7) (161)

Jl ng
A
LIy, r
rDy, 2217 + S, (162)

gbooboogogobobod

Lz, 0ll9) r1li) =|To, g~ Mi) ~ [ Tng)) rrli) + 119)) 1 Tnli),
Lorl19) rilt) =le, Tng™ i) ~ =lgTm)) rrli)-
D)) r1li) = = [Tin, g7 )i) + le, g7 Ta) i) ~ =21\ Ting)) r1li) — [19) R Timld).  (163)

gboobboouoodaobob

Jh ELL + S,

r RIpp
Jr Zrr

m

rDyp 2 —2rl — 8. (164)

gbobobooggbboboooobobboooobobbuoooobobbooooobooad
gbobooodobod

72Dy Dy =(2L7 + Spn)?
=2(LT )2 +2(L", + S,)? — S2 (165)
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D000000D000 e 00000000000000D000000000O0O0O00O0
00000000 (L;,)?= (L) 0000000000000000000

72Dy Dy, = 2(JL)? +2(J7)% — S2 (166)

gbobobooggbboboooobobboooobbobuoooobobboooobooad
gbbbuooobobbboooobbbuooobbboood
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D :=S,,rD,, (167)

0000000000000000000000000
D=3S,02L, +S,) = (S, + L)*— (L) (168)

000 (Lr)?=(LL)*00000a0
D= (Jp.)° = () (169)

O000000oo0o0o0o000ooooooooooooon
Doooo XY poooooo XYW ooooo

DXW”:%%QJW% DXV = —rey Dy XY (170)

gbobobooggboboboooobobboooobbobuoooobobbooooboogd
gooo

2
r

Loy mpx, an

0aD XM = Z[(JL)2 — (7)) XY2) e DX, = —
;

00000000 (+1,4),(.j), (G—1,j/)0000000000000000000
00

2(7+1)

D x X415 = — ”
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T
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